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Question Number : 1 Question Id : 5799656201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
which of the following was discovered by Colurmbus?

Options:

1. %  India

z ¥ America
3. % Africa

4 %  Aystralia

Question Number : 1 Question Id : 5799656201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 2 Question Id : 5799656202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Who invented printing press?
Options:
1. % John Mill
= %  Henry David
2. ¥ John Gutenberg

4 % Galileo

Question Number : 2 Question Id : 5799656202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 3 Question Id : 5799656203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What is Magna Carta’

Options:

1. ¥ Charter of liberties signed by English King in 4D 1215
2. % Bullock cart

3. ®  Mapgentic Cart

4 %  Compass

Question Number : 3 Question Id : 5799656203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 4 Question Id : 5799656204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Who preached “Wishishtadwaitha™?

Options:
1. %  Sankaracharya

2. % Desikacharya
% %  Madhwvacharya
4. % Ramanujacharya

Question Number : 4 Question Id : 5799656204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 5 Question Id : 5799656205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which period is called Golden Age?

Options:

1. %  Gupta Period
2. % Maurya Period
3. %  Kushan Period

4. % Mughal Period

Question Number : 5 Question Id : 5799656205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 6 Question Id : 5799656206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In the 1857 sepoy revolt, immediately after the incident at Meerut, sepoys moved towards
Options:
1. % Agrg
2 %  Thansi
2. %  Kanpur
4. %  Delhi

Question Number : 6 Question Id : 5799656206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 7 Question Id : 5799656207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Where did the Moplah rebellion ocour?

Options:
1. %  Crissa
Z %  Berigal

= %  Malabar
4 %  Khandesh

Question Number : 7 Question Id : 5799656207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 8 Question Id : 5799656208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Who was the Viceroy of India when Indian MNational Congress was started?

Options:

1. %  Dalhousie
2. ¥  Dufferin
2. %  Ripon

4 % Lytton



Question Number : 8 Question Id : 5799656208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 9 Question Id : 5799656209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
who founded the Erahumo Samaj in 12287

Options:

1. ¥ FRaja Ram Mohan Roy

2 %  Michael Madhusudan Dutt
% % Devendra Math Tagore

4. %  Keshab Chandra Sen

Question Number : 9 Question Id : 5799656209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 10 Question Id : 5799656210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
which revolutionary assassinated, British Police Officer Saunders?
Options:
1. ¥  Khudiram Eose
2 %  Prafulla Chaki
2. ¥  EBhagat Singh
4, %  Chandrasekhar Azad



Question Number : 10 Question Id : 5799656210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 11 Question Id : 5799656211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What is the tenure of a member of a State Public Service Corrrission?

Options:

1. ®¥  5yearsor attainment of 65 years before the expiry of S vears
2. % g years or attainment of 65 years before the expiry of § vears
3. % Syears or attainment of 62 years before the expiry of S vears

4. % & years or attainment of 62 years before the expiry of § vears

Question Number : 11 Question Id : 5799656211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 12 Question Id : 5799656212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Who 15 the senicr ost Bureaucrat in India’?
Options:
1. ¥  Chief Secretary



2. ¥  Cabinet Secretary
3. % Secretary to Prime Minister
4. % Secretary General, Lok Sabha

Question Number : 12 Question Id : 5799656212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 13 Question Id : 5799656213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
which is the key Unit of administration in India?

Options:
1. %  Gram Sabha

= ®  Mandal Parishad
= %  District
4 ¥  Revenue Division

Question Number : 13 Question Id : 5799656213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
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Question Number : 14 Question Id : 5799656214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
which the Comrmittes constituted by Union Governument on Criminalization of Politics?

Options:

1. Vohra Committes

2. % Venkatachaliah Cormrmittes
2 #®  Kelkar Comrnittee

4 ®  sSanthanam Comumittes

Question Number : 14 Question Id : 5799656214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 15 Question Id : 5799656215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Constitution day is celebrated on?

Options:

1. % 26th January
2 ¥ 26th Novemnber
3. ¥ 26th Decemnber

4 #  D2Gth September

Question Number : 15 Question Id : 5799656215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 16 Question Id : 5799656216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which article of the Constitution abolishes titles?

Options:

1. % Article 17
Z % Article 24
3.9 Article 18

4. % Article 25

Question Number : 16 Question Id : 5799656216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 17 Question Id : 5799656217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich Article of the Constitution Prohibits human trafficking?

Options:
1. % Article 17

2 % APticle 23
3% Article 24
4 % Article 2B

Question Number : 17 Question Id : 5799656217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 18 Question Id : 5799656218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In case of deadlock between the two houses of Parliament with regard to a bill, who summons the Joint

sitting?

Options:

1. ¥  President

= %  Minister for Parliamentary Affairs
3. % Speaker of Lok Sabha

4. %  Prirme Minister

Question Number : 18 Question Id : 5799656218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 19 Question Id : 5799656219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Howr many times emergency was declared in the country on account of internal aggression?

Options:

1. % 3
2 ¥ 1
3% 2
4 % 4

Question Number : 19 Question Id : 5799656219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 20 Question Id : 5799656220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What is the minimum age for a person to be eligible to contest for the post of President of India?
Options:
1. % 18 Years
2 % 25 Years
3. % 30 Years

4 %  I=E Years

Question Number : 20 Question Id : 5799656220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 21 Question Id : 5799656221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhern the posts of President and Vice President’s are vacant, who acts as President?

Options:

1. %  Speaker of the Lok Sabha
2. %  Chief Justice of India

. % Attorney General

4 & iZhief Election Conmumissioner



Question Number : 21 Question Id : 5799656221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 22 Question Id : 5799656222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Why a glass bottle full of water breaks, if kept in a fridge?
Options:
1. % Glass cannot withstand low temperature
2. % Glass expands at low temperature
Z. % The pressure in the fridge would be very high

4 %  When water solidifies, it expands in wolurme

Question Number : 22 Question Id : 5799656222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 23 Question Id : 5799656223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
If a red litmus paper turns to blue when few drops of a liquid are poured on the paper, then the liquid is
afan?
Options:
1. % acid



2. % Ease
3. % [eutral Salt

4 #  Could be an acid or base

Question Number : 23 Question Id : 5799656223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 24 Question Id : 5799656224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Formation of Carbon dioxide gas from Carbon and Oxygen is afan?

Options:

1. %  Exotherric reaction
2. % Displacement reaction
% % Endothermic reaction

4 %  Biochernical reaction

Question Number : 24 Question Id : 5799656224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 25 Question Id : 5799656225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



The bright colour of fire crackers containing Magnesium is due to?
Options:
1. %  Reduction of Magnesium
2. % Redox reaction
2. ¥ Cwidation of Magnesium

4. % Explosion of metal

Question Number : 25 Question Id : 5799656225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 26 Question Id : 5799656226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Alimentary canal runs from mouth to?

Options:

1. %  Stomach

2. % Small Intestine
3. % Large Intestine
4. % Anus

Question Number : 26 Question Id : 5799656226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
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Question Number : 27 Question Id : 5799656227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which disease 15 caused due to Vitrmain O dEfiCiEﬂC‘}.F?

Options:
1. ®  BeriBeri
= %  Scurvy

3. %  Kwashiorkar
4. %  Night Elindrness

Question Number : 27 Question Id : 5799656227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 28 Question Id : 5799656228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
What is the full form of ATF?

Options:

1.9  Adenosine Tri Phosphate
= %  Adenine Tri Fhosphate
3. % Adenosine Tri Protease

4 %  Adenine Tri Protease

Question Number : 28 Question Id : 5799656228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 29 Question Id : 5799656229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Tobacco plant contains the following alkaloid?
Options:
1. %  Eesin
2. %  Morphine
3. %  Risarpin
4 ¥ MNicotine

Question Number : 29 Question Id : 5799656229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 30 Question Id : 5799656230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Latex is used in?

Options:

1. ¥ Rubber
Z %  Cakes
3. %  Bread

4. %  Metal Casting

Question Number : 30 Question Id : 5799656230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 31 Question Id : 5799656231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Insulin Controls?

Options:

1. Elood Sugar

2 #®  Blood Salts

3. %  Erain Reflex

4. % Heart Pumping

Question Number : 31 Question Id : 5799656231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 32 Question Id : 5799656232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Why chameleon changes its colours?

Options:

1. % Totune its colour with temperature of the day
2. #®  The colours automatically change on their own
. ¥ Toprotect itself from predators

4. %  There is no specific reason



Question Number : 32 Question Id : 5799656232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 33 Question Id : 5799656233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which disease is cause due to [ron deficiency?

Options:
1. %  Obesity

2. % Muscular Dystrophy
3. % Club Foot
4 % Anemia

Question Number : 33 Question Id : 5799656233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 34 Question Id : 5799656234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
what is the function of liver in human body?

Options:



1. %  Metabolizes drugs
2 #®  Checks chemical level in blood
% % Secretion of Bile juice (paitya rasarmmu)

4 &  Allthe ZIvErl answers are Correct

Question Number : 34 Question Id : 5799656234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 35 Question Id : 5799656235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which Vitarin has Cobalt?

Options:
1.¥ ElZ
2 % E1
3. % EZ
4 % E§

Question Number : 35 Question Id : 5799656235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 36 Question Id : 5799656236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
Steridian is unit of?

Options:

1. % Angle

Z ¥  Solid Angle
3. %  Distance

4. %  volume

Question Number : 36 Question Id : 5799656236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 37 Question Id : 5799656237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Ignoring friction of air, if one brick and one feather are released to ground from top of a building, which one
reaches ground first?

Options:
1. ¥  Brick

2 %  Feather
2. %  Both at the same tirme
4 % Data is insufficient

Question Number : 37 Question Id : 5799656237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 38 Question Id : 5799656238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In the planets of Sun, what is the position of earth from Sun?

Options:

1.% Third
Z. %  Fifth
3. % Second
4. ® sixth

Question Number : 38 Question Id : 5799656238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 39 Question Id : 5799656239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Approximately how rmuch time it takes for the Sunlight to reach Earth from the Sun?

Options:

1. % 1 minute

2 ¥  Brminutes
. % B0 Minutes
4 % B00 Minutes

Question Number : 39 Question Id : 5799656239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 40 Question Id : 5799656240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which 15 the major constituernt of Gobar Gas?

Options:

1. %  Ethane
Z %  Butane
3. ¥  Methane

4. %  Hydrogen Sulphide

Question Number : 40 Question Id : 5799656240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 41 Question Id : 5799656241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which the coolant used in Fast Breeder Eeactors?

Options:

1. %  Heavy Water
2. % Light Water

2. % Liquid Heliurn
4. % Ligquid Sodium

Question Number : 41 Question Id : 5799656241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 42 Question Id : 5799656242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which the southernmost point of India?

Options:

1. %  Dhanushkodi
2. % Kanyakumari
3. % Kavaratt

4. & [ndira Point in Great MNicobar Island

Question Number : 42 Question Id : 5799656242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 43 Question Id : 5799656243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
With reference to Greenwich Mean tirme, Indian Standard tirme is

Options:

1. #  Five and half hours behind
2. %  Five hours behind

3. %  Five and half hours ahead
4. %  Five hours ahead

Question Number : 43 Question Id : 5799656243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 44 Question Id : 5799656244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The highest range of Himalayarn mourntains are called?
Options:
1. ¥  Himachal
=z %  Himadri
3. %  Himavat

4. %  Himaraj

Question Number : 44 Question Id : 5799656244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 45 Question Id : 5799656245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
which of the following plateaus is having the biggest rmineral deposits in India?
Options:
1. % Chotanagpur Flatean
= % Malwa Plateau
3. %  Deccan Flateau

4 #  Upper Ganges Flateau

Question Number : 45 Question Id : 5799656245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 46 Question Id : 5799656246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which is the Ocean with maximum number of [slands?

Options:
1. % Indian Ocean
o Atlantic Ocean

= W Farific Ocean

4 Antarctic Ocean

Question Number : 46 Question Id : 5799656246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 47 Question Id : 5799656247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Cut of the following, which is land is more fertile?

Options:

1. % Terai

= w FKhader
3" Bhanger
4. Ehabhar

Question Number : 47 Question Id : 5799656247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 48 Question Id : 5799656248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Mount Everest is in”

Options:
1.9 Mepal & China

= w Mepal
3 ® India

4 % China

Question Number : 48 Question Id : 5799656248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 49 Question Id : 5799656249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In which regions, sink holes are generally formed?

Options:
1. % Sandstonie topography
= w Polar regions

3. ¢ Lirme stone topography

4 * Deserts

Question Number : 49 Question Id : 5799656249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 50 Question Id : 5799656250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



In which region, it rains throughout the vear?
Options:
1. % Mediterranean region
= Equatorial region
3= Mear the poles
g * Siberia

Question Number : 50 Question Id : 5799656250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
2 Jrohoes” RodBOo Fesn =G0 SO GotLod

Options:
_ G(ET° Frodo
1 =

- .-.“;iJ"’;.‘Ur.‘,‘.:?S Jrodho

- GHTw &G0

DB
4. %

Question Number : 51 Question Id : 5799656251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhat are racial features of aborigine tribes of Andarman?

Options:

1. % Anstroloid
= " Mongoloid
3w Cancasoid

4 & Megroid

Question Number : 51 Question Id : 5799656251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 52 Question Id : 5799656252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



In which vear Cornmission for Agricultural Costs and Prices was set up in India?

Options:

1. % 1360
= 13965
3 % 1363
g * 1970

Question Number : 52 Question Id : 5799656252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:
, % 1960

. 1965

.« 1968

, x 1970

Question Number : 53 Question Id : 5799656253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhich parameter reflects the depth and intensity of poverty?
Options:
1.9 Poverty gap

= ® Poverty line
3. ® Extrerme poverty
4 * Poverty ratio

Question Number : 53 Question Id : 5799656253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 54 Question Id : 5799656254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Yellow revolution in agriculture relates to?

Options:



1. % Pulses

2 Oilsesds

3 % Turmeric products
4 ® Millets

Question Number : 54 Question Id : 5799656254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 55 Question Id : 5799656255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
When was the first Industrial Policy Eesolution made by India?

Options:

1. % 1950
o % 1949
3 v 1948

4 ® 1947

Question Number : 55 Question Id : 5799656255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
. » 1950

L x 1949

. » 1948
. 1947

Question Number : 56 Question Id : 5799656256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Wwhat does "NITI" indicate in Miti Aayog?
Options:
1. % MNational Initiative for Transparent India

o % Mational Industrial & Technological Institute



3 ® Mational Integrated Technology [nitiative

4. Mational Institution for Transforming India

Question Number : 56 Question Id : 5799656256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 57 Question Id : 5799656257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Under Which Programrme US granted food aid to India in 196057

Options:

1.9 FL 430
= w FL 420
3 % FL 400
g * FL 450

Question Number : 57 Question Id : 5799656257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Options:
| o DS 480

o % 3 S 420

3 ¢S 400
T
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Question Number : 58 Question Id : 5799656258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Cut of the given below, which is Apex institution for promoting, financing and developing Small Scale
Industries in India?

Options:
1. % EEI
z, " [DE]
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Question Number : 58 Question Id : 5799656258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 59 Question Id : 5799656259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What 15 Universal Basic Incormne?

Options:

1. % Basic income level of citizens of all countries

= Minirmum lewvel of income support by Governiment to Citizens
3 # Unemployment allowarice

4 % Minirmurn armount required to make decent living

Question Number : 59 Question Id : 5799656259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 60 Question Id : 5799656260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Who is the Chairman of State Banlk of India?
Options:
1. % Sikha Sharma



o R Chanda Kochar
3 # MNita Ambani
4 Arundhati Bhattacharya

Question Number : 60 Question Id : 5799656260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 61 Question Id : 5799656261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In the tenth five vear plan, on which sector maxinrm amournt was Spent?

Options:

1. % Energy

= Social Sector

3 % Industry & Mines

4 ® Transport

Question Number : 61 Question Id : 5799656261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 62 Question Id : 5799656262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What was the theme of 12th Five Year Flan?

Options:
1 % Faster Growth

= ® More Inclusive Growth



o R Sustainable Growth
4 All the given answers are correct

Question Number : 62 Question Id : 5799656262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 63 Question Id : 5799656263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following can protect from Tsunami?

Options:
1. % High rise building
o % Euilding with strong cormpournnd wall

3 Mangroves
4 % Valleys

Question Number : 63 Question Id : 5799656263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 64 Question Id : 5799656264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Howr people living on coast can be saved during cyclones?

Options:
1. % Ev arranging speedy ransport
o Ev building cyclone shelters



3 % By Arranging specd boats
4 % All the givern answers are Correct

Question Number : 64 Question Id : 5799656264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 65 Question Id : 5799656265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Landslides are very Comumon in?
Options:
1. % Deccan region
o % Weastern Ghats
3 % Chambal valley

4 & Hirmalayan region

Question Number : 65 Question Id : 5799656265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
§ocieidoien DBADCECo RE) 6 NOY Frdeo

Options:

| x SDORS) Fodho

:}"E't);ﬁ} SRV
o W

_— Hoedes &5 o

FArR0R Jrodho
4

Question Number : 66 Question Id : 5799656266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which disaster regularly affects all the regions of India?

Options:
1 % Floods

o % Earthquakes



3 v Drought
4 % Cvclones

Question Number : 66 Question Id : 5799656266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 67 Question Id : 5799656267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In disaster management, what is cormmonly followed?
Options:
1. % God's Will
> Dharma
3 % Act according to the time

4. Disaster Managerment Cycle

Question Number : 67 Question Id : 5799656267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 68 Question Id : 5799656268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich of the following is more prone for landslide?

Options:
1. % Steep Slopes on rocloy mmountain
= Bud Valley

3 ® Seashore



4 ® Plateau

Question Number : 68 Question Id : 5799656268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 69 Question Id : 5799656269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is likely to kill rmore people?

Options:

1.9 Badly desigried large building
o % Earthquake in middle of desert
3 % Cyclone in deep sea

4 % Landslide in deep forest

Question Number : 69 Question Id : 5799656269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 70 Question Id : 5799656270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What 15 NDRMAY

Options:
1. % Matural Disaster Management Authority
o Mational Disaster Management Authority

3 % Mational Defense Management Agency



4 % Matural and Deep Mountain Authority

Question Number : 70 Question Id : 5799656270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 71 Question Id : 5799656271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Whern was the National Disaster Managerment Plan releasad”?

Options:

1. % March, 2003
o % May, 2009
z May, 2016

4 ® March, 2016

Question Number : 71 Question Id : 5799656271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

afﬁth, 2009
1. %

, % S, 2009
. , 2016

Lo STy 2016

Question Number : 72 Question Id : 5799656272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What 15 Sendai Frarmeworlk?

Options:

1. % Cyclone management framework
o % Tsunami Information network

3 % Flood Managernent rnetwork

4 & Disaster risk reduction frameworlk:



Question Number : 72 Question Id : 5799656272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 73 Question Id : 5799656273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Tsuanmu's are caused by’

Options:

1. % Moor's Pull

= R Jet MNoise

3 ¥ Tectonic activity

4 % SUNSpots

Question Number : 73 Question Id : 5799656273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 74 Question Id : 5799656274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following is not a sustainable practice?

Options:

1. [ntense mono cropping
o % Multi cropping

3 % [nter cropping

4 % COontour Cropping



Question Number : 74 Question Id : 5799656274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 75 Question Id : 5799656275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
How many sustainable development goals are prescribed by TURN?

Options:

1. ® 1z
= ® 15
3. ¢ 17
4 * 13

Question Number : 75 Question Id : 5799656275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 76 Question Id : 5799656276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich organization looks after the work of Sustainable Developrnent Goals?

Options:

1.9 INDF
2 ® DECD
3w 5-15
4 ® FAD

Question Number : 76 Question Id : 5799656276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 77 Question Id : 5799656277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich one of the following is not included in the world network of bio reserves?
Options:
1. ¢ Marnas
o % Milgiri
3 % Gulf of Mannar
g * Manda Devi

Question Number : 77 Question Id : 5799656277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 78 Question Id : 5799656278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Coringaforangil Sanctuary is

Options:

1.9 Mangroves

= w Thorny Bushes

3 ® Teak forests

4. = Hilly terrain

Question Number : 78 Question Id : 5799656278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 79 Question Id : 5799656279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which of the following can reduce Global Warrming?

Options:

1. % Use of Public Transport
= w Mot using Fridge

3 ® Afforestation

4. All the Ziven answers are Correct

Question Number : 79 Question Id : 5799656279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

20BT°IS5° DA BrTEHo DERLE I AotdHId
Options:

HDE BT DEDRRO DI Aot3An

1 =

L 28 Tasdiaco

OV G
3. @

BN RATT T O WOHD
PR -

Question Number : 80 Question Id : 5799656280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich of the following animals is a good example of water management?

Options:
1. % Eull

o Goat
3 W Carnel
4 * Horse

Question Number : 80 Question Id : 5799656280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 81 Question Id : 5799656281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following 15 banned in veterinary treatrnent to save vultures?

Options:

1. % ASpirin

e Diclofenac
3. ® Tetracycline
4 * Rantidine

Question Number : 81 Question Id : 5799656281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 82 Question Id : 5799656282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following gives clearances for testing and trials of Genetic crops in India?

Options:

1.9 GEAC
= w MGT

3 ® DET

4, # [CAR

Question Number : 82 Question Id : 5799656282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 83 Question Id : 5799656283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following causes less pollution?

Options:
1. % Thermal Power Plant
o W Muclear Foweer Plant

3 % Automobiles in a City
4 ® Aero plane Industry

Question Number : 83 Question Id : 5799656283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 84 Question Id : 5799656284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
which of the following causes death of Olive Ridley Turtles >

Options:
1. % Sed ternperature variation
o % Lack of foraging areas

=3 4 Mechanized Fishing Boats
4 ® More of the given answers is correct

Question Number : 84 Question Id : 5799656284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 85 Question Id : 5799656285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Which is the cleanest city in Andhra Pradesh according to Swachh Survelkshan 2017 7

Options:

1. ¥ Tirupati
2. % Kakinada
% ® Viziawada

4. ¢ Visakhapatnam

Question Number : 85 Question Id : 5799656285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 86 Question Id : 5799656286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Who is Sagar Baheti
Options:
1. ® First person with artificial limbs swam across Ganges
2. ¥ Visually impaired runner who participated in Boston Marathan
3. % visually impaired chess player

4 % India’'s first ever winner of Monte-carlo master womans double title

Question Number : 86 Question Id : 5799656286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 87 Question Id : 5799656287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Justice . 5. Khehar is the ___th Chief Justice of India

Options:

1. % 43rd
2. % 40th
3. ¥ 44th

4 #® 45th

Question Number : 87 Question Id : 5799656287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 88 Question Id : 5799656288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
5T ushers in which of the following
Options:
1.+ Cne Country- One tax
2. % One Country - one slab tax
3 % different states - different tax rates

4 % All the given answers are Correct

Question Number : 88 Question Id : 5799656288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 89 Question Id : 5799656289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

JICA is providing financial aid to India in
Options:
1. % Polavaram project
2. ¥ ihmedabad - Mumbai Bullet train Project
% % New capital city of AP

4. ¥ Hyderabad Metro Rail Project

Question Number : 89 Question Id : 5799656289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 90 Question Id : 5799656290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
IRMNSS stands for

Options:

1. ® Integrated Regional Navigational Satellite Systerm
2. ¥ India Regional Navigation Satellite Systerm

Z. % Invisible Remote Navigable Satellite System

4, % [ndustrial Rermote MNavigational Satellite System

Question Number : 90 Question Id : 5799656290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 91 Question Id : 5799656291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following prograrmmes is implemented for the first time in the country in Andhra Pradesh State?

Options:

1. % Eharath Mission

2. % National Digi Mission

3 v Fural LED street lighting project

4. % Gram Kalyan Yojana

Question Number : 91 Question Id : 5799656291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 92 Question Id : 5799656292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Punjal StateGowvernment has recently launched a prograrnrme of Bool Barks to provide
Options:

1.9 Used books are collectad from Students and provided to needy students which will help thern and
also avoid paper wastage through printing new books

o % To supply free books to dropout students
3 % Digital library setup for all

4 ® All the given options are correct

Question Number : 92 Question Id : 5799656292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 93 Question Id : 5799656293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
which of the following moverments occurred exactly 100 yvears ago?
Options:
1. % Swarajva Movernent
2 %  Champaran Movement
3. ® Wahabi Movernent

4 ® Theosophical Movernent

Question Number : 93 Question Id : 5799656293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 94 Question Id : 5799656294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Which of the following is the programme providing health advice to pregnant wornan through mobile
application launched by Haryana Gowernrmnernt?

Options:
1.9 Eillzari

oow Hilkar
3w kallari
4 * shankari

Question Number : 94 Question Id : 5799656294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 95 Question Id : 5799656295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Wwhich of the following is the reason for which Justice C 5 Karnan has been sentenced six months jail by the
Supreme Court of India

Options:

1. # For taking bribe

Z % for absconding from duty
2. % For conternpt of the court

4. % For misbehaving with the court staff

Question Number : 95 Question Id : 5799656295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 96 Question Id : 5799656296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwho argued the case of Kulbhushan Jadhav before the International Court of Justice on behalf of India
Options:
1. % Ram Jethrmalani
Z. % Harish Salve
2. * Shanthi Bhushan

4. % Kapil sibal

Question Number : 96 Question Id : 5799656296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 97 Question Id : 5799656297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Why India did not participate in the Cne Belt Cne Eoad meet organized by China in May 2017

Options:

1. ¥ Financial reasons

2. % Territorial sovereignty issues
3. % Competition in foreign trade

4, % Lack of prior intimation

Question Number : 97 Question Id : 5799656297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 98 Question Id : 5799656298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
United Nations declared the year 2019 as the International Year of

Options:

1. ® Girl child

2. % Tiger Protection

3. ¥ Indigenous Languages

4. % Water Resource Conservation

Question Number : 98 Question Id : 5799656298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 99 Question Id : 5799656299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
The worman tennis player who won the largest number of Grand Slam titles
Options:
1. % Margaret Court
2. # Venus Williarms
2. % Sania Mirza

4 % Serena Williams

Question Number : 99 Question Id : 5799656299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 100 Question Id : 5799656300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Arn Teonic Bridge' is proposaed to be built across
Options:
1. ® River Ganges
2. # River Godavari
2. % River Krishna

4. % River Kawveri

Question Number : 100 Question Id : 5799656300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 101 Question Id : 5799656301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
spaceEx 15

Options:

1. # a space craft launched from Sriharikota, Andhra Pradesh

2. % aspace craft launched from MASA, USA

z. ¥ an asrospace manufacturer and space transport services company, USA

4. % 3 rocket and spacecraft launching private company , Fussia

Question Number : 101 Question Id : 5799656301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 102 Question Id : 5799656302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhat is the record (in number of satellites) for sending maxirmur number of satellites into space in a single
expedition?

Options:

1. % 100
o % 101
3. % 102
4 104

Question Number : 102 Question Id : 5799656302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 103 Question Id : 5799656303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
What is the approximate weight of the rocket GSLY Mark [II D17

Options:
1. % = tonnes
o 2.5 tonnes

3 W 4 tonnes
4 % 4.5 tornes

Question Number : 103 Question Id : 5799656303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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Question Number : 104 Question Id : 5799656304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhy alum is used in the process of purifving drinking water?

Options:

1. % Killing bacteria

2. % Removing of salts

3. ¥ Coagulation of roud particles

4. % Removing gases

Question Number : 104 Question Id : 5799656304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 105 Question Id : 5799656305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33



The weight of a brain of a normal human adult is about
Options:
1. * 2 pounds
= ¥ 3 pounds
2. * 4 pounds
4. % 5 pounds

Question Number : 105 Question Id : 5799656305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 106 Question Id : 5799656306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
In which of the following season human beings require food with more fat content

Options:

1. # Rainy season
2. ¥ winter

3. % Spring

4 % Surmmer

Question Number : 106 Question Id : 5799656306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
D 2wedPS” EDY dogren DS DT SR PG VIV BNBB?

Options:
23 2080

1. %

- %8 sres

 0d 20B0)

4 % 2R SO

Question Number : 107 Question 1d : 5799656307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Cut of the below, Who was the first graduate from the Calcutta University in 18587
Options:
1. # Rabindranath Tagore



2. ¥ Bankim Chandra Chattopadhvay
= % Eipin Chandra Pal
4. ¥ Chittaranjan Das

Question Number : 107 Question Id : 5799656307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 108 Question Id : 5799656308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
The main objective of The Rajahmundry Social Reform Association was

Options:

1. # to propagate Hinduism

2. % to encourage vouth for freedom struggle
= ¥ o encourage widow remarriages

4. % 1o discourage the spread of Christianity

Question Number : 108 Question Id : 5799656308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 109 Question Id : 5799656309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wande Mataram composed by Banlamchandra Chatter)i
Options:
1. % has an equal status with Jana Gana Mana, the MNational Antherm



2. % wyas translated by Gandhiji into Gujarati
3. % was recognized by the UNO as a heritage property

4. % MNone of the given answers

Question Number : 109 Question Id : 5799656309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 110 Question Id : 5799656310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Falastan Resolution was adopted by the Muslim League in 1940 111 1t

Options:
1. % Luknow Session

2. % Bombay Session
= % Lahore Session

4. ® Calcutta Session

Question Number : 110 Question Id : 5799656310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 111 Question Id : 5799656311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following is not a key area of the vision of Digital India Programme ?

Options:
1. % Infrastructure as a utility to every Citizen
= #® Governance and Services on Dermand

=. ¥ Digital Application for Export Promotion



4. % Digital Empowerment of Citizens

Question Number : 111 Question Id : 5799656311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 112 Question Id : 5799656312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following is the meaning of FRIASoft ?

Options:

1. ¥ The name of an accounting comparly

2. ® The name of a Non-Governmental Organisation

= % an accounting method developed by UNDP to be used by governments

4, ¥ Software used for accounts in of Panchayati Raj Institutions for better accountability and transparency

Question Number : 112 Question Id : 5799656312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 113 Question Id ;: 5799656313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following country has adopted Gross National Happiness as an Index of well-being of its
Citizens 7
Options:
1. % SriLanka

2. % Bangladesh



3. % Myanmar
4. % Bhutan

Question Number : 113 Question Id : 5799656313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 114 Question 1d : 5799656314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Which Finance Cormrnission used the sarme amount of Per capita grant assistance as the basis both for the
Rural and Urkan Local Bodies for awarding Grants-in-aid for local bodies is

Options:

1. % Eleventh Finance Commmission
2. % Twelfth Finance Conmmmission
2. % Thirteenth Finnce Cormumission

4. % Fourteenth Finance Cormumission

Question Number : 114 Question Id : 5799656314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 115 Question Id : 5799656315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

In India, the change in the composition of Gross Domestic Product over the plan period has shifted in fasour
of

Options:
1. # Agriculture Sector



2 % Industrial Sector
2. ¥ Service Sector

4. % Both agriculture and Industrial sectors

Question Number : 115 Question Id : 5799656315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 116 Question Id : 5799656316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Wwhich of the following is not an initiative of the UDAY Scheme launched by the Ministry of Power,
Government of India 7

Options:

1. ® Improving operational efficiencies of DISCOMS
2. % Reduction of cost of power

= % Reduction in interest cost of DISCOMs

4. ¥ Regularisation of employees working in DISCOMS

Question Number : 116 Question Id : 5799656316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 117 Question Id : 5799656317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Wwhich of the following is not a strategic component behind the Make in India campaign

Options:
1. ® Stress on skill dEVEIOpI'HEI'lt

2. % Develop world level infrastructural facilities



=, ¥ Providing finance liberally to rural women to take up new enterprises

4. % Making India a manufacturing hub for domestic as well as foreign Companies

Question Number : 117 Question Id : 5799656317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 118 Question Id : 5799656318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Under GST regime, the rate structure of the tax is recormmended by the

Options:

1. ¥ MNational Development Council

2. #® The Empowered Cormmittee of Finance ministers
3. ¥ The GST Council

4, % NITI dayog

Question Number : 118 Question Id : 5799656318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 119 Question Id : 5799656319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Which of the following Union Finance Commission has included, 'Forest Cover' for the first time in the
distribution of tax revenue from the divisible pool ?

Options:
1. % Eleventh Finance Comumission

2. ¥ Fourteenth Finance Cornmmission

S # Twelfth Finance Conmmmission



4 # Thirteenth Finance Comumission

Question Number : 119 Question Id : 5799656319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
3)?,3“3.*..5 Q0B AoC:, DAYV TT° Sy T 0263 DHaDHAS’, D Sodd ﬁgr_-‘. PDodAW

Q00 20GE JOT et Froieh (856)" @D E:Jc:—?“i)‘l polelalr ISR @mﬁé‘lﬁ?

Options:
115 ﬁg?:‘» P00

145 e588 Do
o @

1255 €388 Dol
3 ® @

135 e38€ DoL0EL
4 % =

Question Number : 120 Question Id : 5799656320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
In which of the following States, the tourist center Leh is situated 7
Options:
1. ® arunachal Pradesh
2. % Himachal Pradesh
= ¥ Jammu & Kashmir

4 # [Jttarakhand

Question Number : 120 Question 1d : 5799656320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 121 Question Id : 5799656321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Ehavanapadu Port is situated on the East Coast in betveecn
Options:
1. % Visahkapatnam and Paradeep
2. % Visakhapatnam and Kakinada

= % Kakinada and Machilipatnar



4. % Machilipatnam and Chennai

Question Number : 121 Question Id : 5799656321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 122 Question Id : 5799656322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich of the following is not a partner of Amaravati Developrnent Fartner?

Options:

1. % Japanese Development Authority

2. % ascendas-Singbridge

% % Sembcorp Pvt Ltd

4. % amaravati Development Corporation

Question Number : 122 Question Id : 5799656322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 123 Question Id : 5799656323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
According to the AP State Reorganisation Act 2014, the Tax Revenue from Hyderabad city
Options:
1. #® iz sharable as 20:80 per cent between A P and Telangana
2. % iz sharable as 50:50 per cent between A F and Telangana
Z. ® iz sharable as 20:70 per cent between A P. and Telengana

4. ¥ is not shareable between AP and Telengana



Question Number : 123 Question Id : 5799656323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 124 Question Id : 5799656324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

According to the A P, Reorganization Act of 2014, Which of the following is the deadline for the division of
assets and liabilities between A P and Telangana

Options:

1.¥  ZJune 2017
= ® 2 June 2018
3. ® 2 June 2013
4 * 2 June 2020

Question Number : 124 Question 1d : 5799656324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 125 Question 1d : 5799656325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

According to the A P Reorganization Act 2014, In which city the Inforrmation Technology Investment Region
(ITIR ) is proposed to be established in Andhra Pradesh

Options:

1. % Armaravati
2. * Hindupur
2. % Tirupati



4 ¥ VYisakhapatnam

Question Number : 125 Question 1d : 5799656325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 126 Question Id : 5799656326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
According to the AP Reorganization Act 2014, for which of the following, location is the basis

Options:

1. % for allocation of assets

2. % Allocation of outstanding debt
3. % allocation of employess

4. % allocation of Bank balances

Question Number : 126 Question Id : 5799656326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
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Question Number : 127 Question Id : 5799656327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Inn the light of the AP Feorganization, Sheala Bhide Comumittes was constituted

Options:
1. # toallocate the employees

2 % for division of assets of Sth schedule institutions



3. % to determine the debt liability
4, ® to distribute the Bank balances

Question Number : 127 Question Id : 5799656327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 128 Question Id : 5799656328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
For which purpose The Kamalanathan Cormmittee was constituted in the post-bifurcation of Andhra Pradesh

Options:

1. % to allocate the employess

2. % for division of assets

3. % to determine the debt liability

4, % to distribute the Bank balances

Question Number : 128 Question Id : 5799656328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 129 Question Id : 5799656329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
If Cage is for a Bird, Prison is for a

Options:
1. % Jailor

= % Thief
% % Lawryer



4 % Police Station

Question Number : 129 Question 1d : 5799656329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

Cage, Bird ¢ e200&, Prison 25087
Options:

| % Jailor

-~ Lawyer

_ Police Station
4 %

Question Number : 130 Question Id : 5799656330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
If Ream is for Paper, Dozen is for

Options:

1. % Water
2. % Milk

3. ¥ Eggs

4. % Honey

Question Number : 130 Question Id : 5799656330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:
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4% Honey

Question Number : 131 Question Id : 5799656331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Mahendratanaya is a tributary of the River
Options:
1. % Vamsadhara
= % MNagavali
2. # Godavari

4. % Tungabhadra

Question Number : 131 Question Id : 5799656331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.33
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Question Number : 132 Question Id : 5799656332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
‘Black Eevolution’ in India refers to increase in

Options:

1. % Crude il Production
2 % Eggs Production

3. %  Oilseeds Production

4. % Cogl Production

Question Number : 132 Question Id : 5799656332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 133 Question Id : 5799656333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich of the following provinces referred in our National Antherr is now presently located in Pakisthan

Options:

1. ¥ sindh
2. % Uthkal
2. % Dravida

4 % Maratha

Question Number : 133 Question Id : 5799656333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 134 Question 1d : 5799656334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
After bifurcation, what is the position of Andhra Fradesh among the Indian states in area?

Options:
1. # 4th

2. % Gth
3. ¥ Zth
4. % 10th

Question Number : 134 Question Id : 5799656334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 135 Question Id : 5799656335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Find the next in the following series: 1, 2, 3, 5, 7, 11, 13,7

Options:

1. % 13
= 17
3 ® 21
4, # 23

Question Number : 135 Question Id : 5799656335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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z % 21
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Question Number : 136 Question Id : 5799656336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Magnitude of earth quakes cannot be measured by which of the following scales

Options:

1. % Marcalli Scale

= w Eossi-Ferrel's Scale
3. ¥ Richter Scale

4 * Mercator Scale

Question Number : 136 Question Id : 5799656336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Question Number : 137 Question Id : 5799656337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Wwhich of the following wawes are sound waves

Options:
1. % F-wraves

o S —waves
R L-wmaves

4 none of the given answers is correct

Question Number : 137 Question Id : 5799656337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
308 J°¢3e5° DD 38 SGorren?

Options:
| % - SColTen

o x @ - SGorTen

2 % 8 - Sdormen
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Question Number : 138 Question Id : 5799656338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
INS Vikramaditya, the aircraft carrier is built with the support of

Options:
1. % France
> % 1548

3. Russia
g ® Japan

Question Number : 138 Question Id : 5799656338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
DATD TS TS INS SIS D B3 Do ODANS QB R0T") 6o

Options:

Question Number : 139 Question Id : 5799656339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

If today is Wednesday, what would be the 21st day from today (excluding today),
Options:
1. %  Monday

2. %  Tuesday
2. ¥ Saturday
4 %  Friday

Question Number : 139 Question Id : 5799656339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

ATV LVGTCo oS, (I 5°€) 315 e 2B7
Options:
% LT o T

. % Sofi¥aordo

B TG0
3w
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Question Number : 140 Question Id : 5799656340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
If SURVIVE is VXUYLYH, what would be MONSOOMN?

Options:

1.9 FROVERC
2 ® FTOVRROD
3w FROIUISEC
4 ® FTRWSS

Question Number : 140 Question Id : 5799656340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

SURVIVE 808 VXUYLYH e90008, MONSOON 2:&05)e8008?

Options:
.« PRQVRRQ

, » PTQVRRQ
. = PRQUSSQ
PTRVSSQ

4 *

Question Number : 141 Question Id : 5799656341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Find the sum of given numbers: 1,2,3,4,5,6,7,8,9,10, 7

Options:
1. ® 50
= ¥ 55
3. % B0
4. % 45

Question Number : 141 Question 1d : 5799656341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.33

fa::smdb :auaaéu 2082500 Joed: 1,2,3,4,5,6,7,8,9,10, ?

Options:
50

1. %

2 22

45



Question Number : 142 Question Id : 5799656342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Eam is the son of Raj. Ramya is daughter of Rashrmi. Raj and Rashmi are husband and wife but divorced.
What is the relation between Ram and Ramya?

Options:
1.9 Erother and Sister
> % Son and Mother

3% Father and Daughter

4 * Mo relation

Question Number : 142 Question Id : 5799656342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

oPaD), U8 & S, G, d%‘é 8 Sraud. o°E Sdosw d%‘é T T{B O 58 drdoen ém&’anlm.
290063, T oL 080w SRl 2508 w8 DANHTE?

Options:

| DG Hodatn J'ed

| Ecoss 200050 39
z
Sod, 0BA%D ErSOEd

3. ®

4% 2 RoLreds T

Question Number : 143 Question Id : 5799656343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

Earm is standing at one of the corners of a square shaped playground. If ram walks to his east on the side of
the play ground, reaches another corner, turns right and walks on another side of the play ground and reaches
another corner, what would be the distance from the original point and the rnew point?

Options:

1. % Twice the side of play ground

= w Thrice the side of playground

3. v 1.414 times the side of playground
g * 1.5 times the side of playground

Question Number : 143 Question Id : 5799656343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
T2 w8 BAGISED) BOBOI0 (DoErd300) g, 28 L S\ &T7) . BB Brddy AT

DOEFDAN AIVE) WS FOBAW Dokt AEIR®, ReE'S PV DY, BS) GG G DE) S 8B, oe-
DL RoEE ZwAD Dotdt AV PofE Ared B88, Jrd gé;im Aoc, §ed %"amjaﬁa
) Jodd ArEaS” &T7) 607

Options:
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Question Number : 144 Question Id : 5799656344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

If a cow is tied with a rope of length of 1200 meters to one pole of a square shaped shed with side of 100
meters. The cow rotates around the shed till the rope is fully tied and does not allow it to move. How rmany
rounds around the shed, the cow rade?

Options:
1. %

2 %
3. v
4

[ K R o 3

Question Number : 144 Question Id : 5799656344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

28 e3:5H0 1200 ibe,:}g orcod, 100 bae:-g Z502AW S0 BACTTCD) TFOG A0S, S MoR Sg?d::.
€559 TEIG tot, TP T SEOVDODHLET B 5" HBAB. e2:) T°HE e DY FE BBAeS?
Options:

;%6

> % 4

3.*«"3

2

Question Number : 145 Question 1d : 5799656345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Which of the following radicactive elerments is used in cancer therapy?

Options:

1. ¢ Cobalt -62

2 % Urainum - 235
3 ® Plutoniurm - 237

4 * Thorium - 233

Question Number : 145 Question Id : 5799656345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
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Options:

E'zre5 — 62
1. ¢ =

. % adouddade — 235

LPES oo — 237

3% 07

, » ©B0DI - 233

Sub-Section Number: 2
Sub-Section 1d: 57996579
Question Shuffling Allowed : No

Question Id : 5799656346 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Sitha and Geetha are neighbours and undertake joint study. Sitha stood first in her class in Maths subject and
Geetha stood Third in her class. Sitha and Geetha stood first in Physics. In over all marks Sitha and Geetha
stood first and second. Both are appearing for 55C examination this yvear. From the above information which
of the following can be reasonably deduced?

Sub questions

Question Number : 146 Question Id : 5799656347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Sitha is studying in the same school where Geetha is also studying

Options:
1. % Yas
R Mo

3% May be

4 W Data insufficient to answer

Question Number : 147 Question Id ;: 5799656348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33
Sitha and geetha may not be studying the same class

Options:

1. % Yes

2 Mo

3% IMay be

4 ® Data insufficient to answer

Question Number : 148 Question Id : 5799656349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Sitha and Geetha are friends



Options:

1.9 Yes

> ® Mo

3. ® May be

4 ® Data insufficient to answer

Question Number : 149 Question 1d : 5799656350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Sitha and Geetha are studying in the sarme place

Options:

1.9 Yes

2 ® Mo

3w May be

4 ® Data insufficient to answer

Question Number : 150 Question Id : 5799656351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
Sitha got more score than Geetha

Options:
1. % fes
=" Mo

3" May be

4 W Drata insufficient to answer

Question Id : 5799656346 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

DS 208050 Ay R T T HBAK 20T BEIDTE. DB TS SEABS” 200E
2076, SDyod. AL TP BBABS” Jarcd 236, HVYB. AGEF F'SE THINS® 26
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Eraodrinl denDel?

Sub questions

Question Number : 146 Question Id : 5799656347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
DS 208050 A 28 FETVS” BEPHBOT) 67

Options:
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Question Number : 147 Question 1d : 5799656348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33
2a¢h 200K Heh 208 HBEA BBHLIBD T

Options:
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Question Number : 148 Question 1d : 5799656349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.33

DS 208050 A ) BT,
Options:
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Question Number : 149 Question Id : 5799656350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.33

DS 208050 A 2,8 EbS” BEIBOT) 6

Options:
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Question Number : 150 Question Id ;: 5799656351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.33
23, AS ST ) D 060 FHodod
Options:

£929)A0
SUED

B0 DOCITI
3 %

PO DAFETGA0 92050
4 &



